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Part 1.

Transient Response — First Order Systems
» Unit Step Response

» Unit Ramp Response

» Unit Impulse Response
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Part 2:

Transient Response - Second Order Systems

> Unit Step Response
» Transient Response Specifications
» Servo System
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1) Rise time - ¢,
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4) Settling time - t:
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Part 3:

Transient Response — Higher Order Systems

> Unit Step Response
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Part 4.

Stability Analysis

» Routh’s Stability Criterion
> Routh’s Criteria — Special Cases
» Effects of Control Actions on System Performance
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Part 5:

Steady-State Error of Unity Feedback
Control Systems

» Static Position Error Constant

» Static Velocity Error Constant
» Static Acceleration Error Constant
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Thanks for your attention!




